KENDRIYA VIDYALAYA MALLESWARAM, BENGALURU
HOLIDAY HOMEWORK
MATHEMATICS CLASS X (2020-21)
· Collect information on the numbers related to the:
· total cases, 
· active cases, 
· recovered 
with respect to the states of Maharashtra and Karnataka from the internet for the period from 25th March to 3rd May.
· Compile this data in the form of three different tables.

Eg:    TABLE SHOWING ACTIVE CASES

	No. of active cases as on
	Maharashtra
	Karnataka

	25th March
	
	

	29th March
	
	

	3rd April
	
	

	8th April
	
	

	13th April
	
	

	18th April
	
	

	23rd April
	
	

	28th April
	
	

	3rd May
	
	



· Make the other two tables too.
· After that represent the data on a squared paper/graph paper.
· [image: C:\Users\USER\Desktop\ASA\NCERT CHAP\002.png]Plot the points corresponding to the dates mentioned above and join the dots with a free hand curve.
· Draw the curves for the two states for a particular item in the same graph using different colours. Use this picture only for reference.
· So prepare three graphs on separate sheets, each having two curves of the states.
· Observe the two curves and do a comparison for the two given states for the conclusion.

INSTRUCTIONS:
i. DO NOT GO OUT TO BUY ANY MATERIAL.
ii. Make best use of what is available.
iii. Show creativity in the use of things already at home.
iv. Do your work neatly.
v. Assemble your work on any kind of sheets of nearly A4 size.
vi. Use graph sheets, if available, or else create your own using a ruler and lines.
vii. Tie the sheets together with a string/strip of ribbon.
Solve these questions on some sheets of paper:
1. Prove that  is irrational.
2. Prove that 4 + is irrational.
3. Show that any positive integer is of the form 3q or 3q+1 or 3q +2 for some integer q.
4. Use Euclid’s Division Lemma to show that the cube of any positive integer is either of the form 9m, 9m+1 or 9m+8 for some integer m.
5. Prove that the square of any odd positive integer is of the form 3m, 3m+1 but not of the form 3m+2.
6. Use Euclid’s Division Lemma to find the HCF of 4052 and 12576.
7. Find the HCF of 65 and 117 and express it in the form 65m + 117n.
8. Without actual division, state whether the following rational numbers have terminating decimal expansion or a non- terminating repeating decimal expansion:
17/8                  64/455             29/343                   15/1600               23/
9. If one of the roots of the polynomial p(x) = 5 + 13x + k is reciprocal of the other, then what is the value of k?
10. If  and  are the zeroes of the polynomial f(x)=  + px + q, then what is the polynomial having 1/ and 1/ as its zeroes?
11. Find all the zeroes of the polynomial p(x) = 2 +6x 2, if two of its zeroes are  and .
12. Divide the polynomial u(x) = 9 + 4 by the polynomial v(x) =  + x 1. Also find the quotient and remainder.
13. If  and  are the zeroes of the polynomial f(x)=  + 3x + 2, find the value of .
14. Solve the following pair of equations graphically:
a) x + y =3                                                        b) x – 2y = 6
     2x + 5y = 12                                                       3x – 6y = 0
15. Draw the graphs of x – y +1=0 and 3x + 2y -12 =0. Calculate the area bounded by these lines and the x-axis.
16. Solve the following system of equations:
8v – 3u = 5uv                                                    =13
6v -5u = -2uv                                                       = -2
17. Use the cross multiplication and substitution method to solve:
2x- y-3 =0
4x + y -3 =0
18. Find the values of p and q for which the following system of equations has infinite number of solutions.
2x + 3y = 7
(p + q)x + (2p – q)y = 21
19. The sum of the digits of a two digit number is 8 and the difference between the number and that formed by reversing the digits is 18. Find the number.
20. The sum of a two digit number and the number obtained by reversing the digits is 165. If the digits differ by 3, find the number.
21. The sum of the numerator and denominator of a fraction is 4 more than twice the numerator. If the numerator and denominator are increased by 3 then they are in the ratio 2:3. Determine the fraction.
22. Ten years ago, father was twelve times as old as his son and ten years hence, he will be twice as old as his son will be. Find their present ages.
23. A boat goes 12km upstream and 40km downstream in 8 hours. It can go 16km upstream and 32km downstream in the same time. Find the speed of the boat in still water and the speed of the stream.
24. 2 men and 7 boys can do a piece of work in 4 days. The same work is done in 3 days by 4 men and 4 boys. How long would it take 1man to do the work? How long would it take 1 boy to do the work?
25. The taxi charges in a city comprise of a fixed charge together with the charge for the distance covered. For a journey of 10 km the charge paid is ₹75 and for a journey of 15 km the charge paid is ₹110. What will a passenger pay for travelling 25 km?
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